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Graph traversals
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Depth - first Search ( carefully )
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Breadth - fist Search C carefully )
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Graph Properties . go to a party
,

shake some # hands
-

Handshake Lemma :
-

He people who shake an odd # hands

must be end

In terms of graphs . . .
O

O -✓# vertices w/ odd ¥€
degree must be every

-

. We will do three proofs ,
in decreasing order

-

of complexity
,

to show that

. you can solve problems in more than oneway

- thinking about the problem in the rightway

Can make things easier .

. Proofs : Ci ) induction over vertices
,

12 ) induction over edges
,

G) direct

proof , considering site of adjacency lists
.
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. slant w/ any graph W/ ktl vertices

' remove I vertex and all of  its incident edges

- what's left  is a graph w/ be vertices → I
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